
Austria placed the blame of the assassination on Serbia. They felt that the country 

had played a part in the assassination and demanded action.  

(See handout/reading assignment) 

 

Based on the reading answer the following questions: 

Which of the demands seems the most reasonable and why? 

 

 

 

Which of the demands seems the most unreasonable and why? 

 

 

 

Why do you think Austria-Hungary gave Serbia only 48 hours to comply? 

 

 

 

What do you believe the purpose of the ultimatum was? 

 


